fEHHESAT  UBEAR R HEKH) SRR

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 15.3 17.2 20.8 25.8 27.2 26.3 20.9 17.4 12.6 8.6 6.6 10.9 27.2 6.6 17.5
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.46 0.48 0.44 0.54 0.46 0.44 0.49 0.52 0.58 0.53 0.50 0.58 0.58 0.44 0.50
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.002 0.004 0.004 0.006 0.005 0.005 0.003 0.001 0.001 < < < 0.006 < 0.003
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 < 0.001 0.001 0.001 0.002 0.001 0.001 0.002 0.001 0.001 < < 0.002 < <
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.003 0.007 0.007 0.009 0.010 0.009 0.006 0.005 0.003 0.002 < < 0.010 < 0.005
K YU s v o owm EE R =0.03 0.002 — — 0.002 — — 0.002 — — < — — < 0.002 < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.001 0.002 0.002 0.002 0.003 0.003 0.002 0.002 0.001 0.001 < < 0.003 < 0.002
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < 0.01 0.01 0.01 0.02 0.02 0.01 0.02 < < < < 0.02 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < 0.01 < < < < < < < < < < 0.01 < <
FTRrIVARUVCZDODEDY =200 1 4.6 5.0 5.1 5.3 5.0 4.9 5.6 6.7 5.7 5.6 5.3 5.4 6.7 4.6 5.4
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 5.4 5.9 6.0 6.2 5.5 5.1 5.4 6.5 5.6 5.7 5.7 5.7 6.5 5.1 5.7
AN b~ T2y L% E) =300 1 31 34 35 38 37 36 37 42 38 37 35 36 42 31 36
& iy % ® L7l =500 1 65 54 60 64 63 58 60 72 36 70 64 47 72 36 59
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < -— -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < 0.2 0.3 0.2 0.2 0.2 0.2 0.2 < < < 0.3 < <
pH it 5.8~8.6 7.0 7.0 7.2 7.1 7.2 7.1 7.1 7.1 7.1 7.0 7.0 7.0 7.2 7.0 7.1
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o E ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2 0.2 0.3 0.2 0.2

U R, AR A AT, I
B, R0 IRY . me/ e, (|F)ESZ No.l




AT LR JLBAmEBLK L) G RAAESE

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 16.3 18.1 22.0 27.3 27.8 27.7 23.2 18.3 13.5 9.3 8.1 11.3 27.8 8.1 18.6
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.45 0.46 0.44 0.51 0.46 0.45 0.50 0.53 0.58 0.53 0.49 0.58 0.58 0.44 0.50
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.002 0.003 0.005 < 0.006 0.007 0.005 0.002 0.002 0.001 < 0.001 0.007 < 0.003
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 0.001 0.001 0.002 < 0.002 0.002 0.002 0.002 0.002 0.001 < < 0.002 < 0.001
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.005 0.006 0.010 < 0.011 0.013 0.010 0.006 0.006 0.004 < 0.002 0.013 < 0.006
K YU s v o owm EE R =0.03 0.002 — — 0.003 — — 0.003 — — < — — < 0.003 < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.002 0.002 0.003 < 0.003 0.004 0.003 0.002 0.002 0.002 < 0.001 0.004 < 0.002
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < 0.01 0.01 0.01 0.02 0.02 0.01 0.01 < < < < 0.02 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < 0.02 < < < < < < < 0.02 < <
FTRrIVARUVCZDODEDY =200 1 4.5 4.9 5.1 5.3 5.0 5.0 5.7 6.6 5.7 5.6 5.3 bih 6.6 4.5 5.3
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 5.3 5.8 6.0 6.1 5.5 5.3 5.6 6.4 5.7 5.7 5.7 5.8 6.4 5.3 5.7
AN b~ T2y L% E) =300 1 31 36 36 40 37 38 39 43 39 37 36 37 43 31 37
& % % B L) =500 1 60 58 58 66 64 56 64 68 40 64 66 45 68 40 59
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < - -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < 0.2 0.2 0.2 0.2 0.2 < < < < < 0.2 < <
pH it 5.8~8.6 7.0 7.1 7.2 7.2 7.2 7.1 7.1 7.2 7.1 7.1 7.0 7.0 7.2 7.0 7.1
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o E ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.2 0.2 0.2 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.1 0.2

AT IRER, A A ~
B, R0 IRY . me/ e, (8P No.2




ARSI LR JLEAmEELK L) SRR

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 15.0 16.8 20.3 24.4 27.1 25.5 22.9 19.0 14.4 10.2 8.2 10.3 27.1 8.2 17.8
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.45 0.47 0.44 0.54 0.46 0.44 0.49 0.52 0.58 0.53 0.50 0.57 0.58 0.44 0.50
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 =<0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.002 0.004 0.005 0.002 0.006 0.006 0.004 0.002 0.001 0.001 < 0.001 0.006 < 0.003
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m ® s ouowm kK v =0.1 0.001 < 0.001 0.001 < 0.002 0.002 0.002 0.002 0.001 0.001 < < 0.002 < <
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.004 0.007 0.009 0.002 0.011 0.011 0.009 0.006 0.004 0.003 < < 0.011 < 0.006
K YU s v o owm EE R =0.03 0.002 — — 0.003 — — 0.004 — — < — — < 0.004 < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.002 0.002 0.003 < 0.003 0.003 0.003 0.002 0.002 0.001 0.001 < 0.003 < 0.002
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < 0.01 0.01 < 0.02 0.02 0.01 0.01 < < < < 0.02 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 4.5 5.0 5.1 5.3 5.0 4.9 5.6 6.7 5.6 5.6 5.3 5.4 6.7 4.5 5.3
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 5.3 5.9 5.9 6.2 5.5 5.1 5.5 6.5 5.6 5.7 5.8 5.7 6.5 5.1 5.7
AN b~ T2y L% E) =300 1 31 34 36 38 37 36 37 42 38 37 35 36 42 31 37
& % % B L) =500 1 63 60 57 68 60 50 68 70 40 66 67 48 70 40 60
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < - -— < < < <
G L/ IEER T JCOF J) =3 0.2 < 0.2 0.2 0.2 0.2 0.2 0.2 0.2 < < < < 0.2 < <
pH it 5.8~8.6 7.0 7.0 7.2 7.0 7.2 7.1 7.1 7.1 7.1 7.0 7.0 6.9 7.2 6.9 7.1
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o E ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2 0.2 0.2 0.3 0.2 0.2

T TR, R R AR R T '
HALIE, FRAROTRVERD, mg/lkj;f’o (F)EM  No.3




e i 22 T CusAmE KR FIRELKHL) STAEE
H H % IR AL TR A 45251 516 H 6J]13H 7H12H 8J115H 9 12H 10110 | 11140 | 12/13H 220 H e KA e/ Mt SRt
K w O C ) 13.5 15.3 19.3 23.5 26.2 25.5 22.0 17.6 13.3 5.7 26.2 5.7 16.6
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g A i A i A g A g A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < <
o e = # =0.04 0.004 < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 -— — < — — < — — < — < < <
T EER AR R R EES <10 0.1 0.45 0.45 0.45 0.47 0.46 0.44 0.48 0.55 0.61 3 0.50 0.61 0.44 0.49
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < <
YA-12-YIun T F LY RNV A1, 2-Y/an Ly =0.04 0.004 < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < -— < < <
7 o o 3 it =0.02 0.002 — — < -— -— < -— -— < — < < <
s m wm K A A <0.06 0.001 0.002 0.003 0.007 0.008 0.006 0.006 0.005 0.001 0.002 < 0.008 < 0.004
Yy 7 m o B B =0.03 0.002 = = < - — < — - < — < < <
Y 7 m ® s ouowm kK v =0.1 0.001 0.001 0.002 0.002 0.003 0.002 0.002 0.003 0.002 0.002 < 0.003 < 0.002
R # % =0.01 0.001 -— -— < -— -— < -— -— < — < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.005 0.008 0.013 0.017 0.012 0.012 0.012 0.005 0.006 < 0.017 < 0.009
K YU s v o owm EE R =0.03 0.002 — — 0.004 — — 0.004 — — < — 0.004 < <
7w ® ¥V s ouowm A H v =0.03 0.001 0.002 0.003 0.004 0.005 0.004 0.004 0.004 0.002 0.002 0.001 0.005 0.001 0.003
7 v E K L A =<0.09 0.001 < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < 0.01 0.01 0.02 0.02 0.02 0.02 0.01 < < 0.02 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < 0.02 < < 0.02 < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < 0.01 < <
FTRrIVARUVCZDODEDY =200 1 4.6 4.9 5.1 5.3 5.0 4.9 5.8 6.4 5.6 5.3 6.4 4.6 5.3
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < <
w® O B 4 F v =200 1 5.4 5.8 6.0 6.0 5.6 5.2 5.7 6.1 6.0 5.7 6.1 5.2 5.8
AN b~ T2y L% E) =300 1 31 35 35 38 36 35 40 42 38 34 42 31 36
& % % B L) =500 1 63 58 54 66 60 49 60 67 42 62 68 42 58
bz A 4 v R om s A =0.2 0.02 — — < — -— < — — < — < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = < < <
7 = J = L ¥ =0.005 0.0005 — — < -— -— < -— -— < -— < < <
G L/ IEER T JCOF J) =3 0.2 < < 0.2 0.2 0.2 0.3 0.2 < 0.2 0.3 0.3 < <
pH it 5.8~8.6 7.0 7.1 7.2 7.2 7.2 7.1 7.2 7.1 7.1 7.0 7.2 7.0 7.1
% REThRy RERL | BREARL | BREARL | BEARL | BERL | BERL | BERL | BERL | BREASL R
B & B TR Byl | BEAaL | BEAL | BEARL | BERL | BERL | BERL | BELL | BEAL B
) EoOC E ) =5 0.5 < < < < < < < < < < < < <
b} o E ) <2 0.2 < < < < < < < < < < < < <
7% 2 b ES =0.1 0.1 0.2 0.1 0.2 0.1 0.2 0.1 0.1 0.2 0.1 0.2 0.2 0.1 0.2
> i é - . S S PN 3, N
WS, RO, GE)ZH  No.d




T AE3T H (—AAIGR P LB HL) G RAAESE

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 15.9 16.6 17.6 19.0 19.2 19.8 17.9 16.4 14.5 12.1 12.9 14.1 19.8 12.1 16.3
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g ] i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.62 0.50 0.53 0.52 0.52 0.53 0.51 0.51 0.54 0.53 0.53 0.54 0.62 0.50 0.53
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < 0.05 < < 0.05 < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v <0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
DA/ - - A S =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 < < < < < < < < < < < < < < <
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 < 0.001 0.001 0.001 < 0.001 0.001 < < < < < 0.001 < <
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 < < < < < < < < < < < < < < <
K YU s v o owm EE R =0.03 0.002 — — < — — < -— -—- < -— -— < < < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 < < < < < < < < < < < < < < <
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -— < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < < < < < < < < < < < < < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 11.4 11.0 11.5 11.5 11.5 11.6 12.5 12.9 12.1 12.6 12.4 12.2 12.9 11.0 12.0
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < <
L A O =200 1 8.6 8.6 8.7 8.7 8.7 8.8 8.9 8.9 8.8 8.7 8.9 8.6 8.9 8.6 8.7
AN b~ T2y L% E) =300 1 85 87 86 87 87 88 88 87 87 87 88 89 89 85 87
& % % B L) =500 1 132 126 128 132 137 120 133 128 110 126 135 115 137 110 127
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < - -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.4 7.4 7.5 7.5 7.5 7.4 7.4 7.4 7.4 7.5 7.4 7.5 7.5 7.4 7.4
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
£ EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o JE ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 b ES =0.1 0.1 0.4 0.3 0.3 0.3 0.3 0.4 0.4 0.4 0.4 0.3 0.3 0.3 0.4 0.3 0.3

T TR, R R AR R T '
HALIE, FRAROTRVERD, mg/lkj;f’o (F)PEARHE  No.5




@A =R (AR A2ARELKH) SRR

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 16.8 17.6 21.4 25.9 28.2 26.9 21.8 18.1 14.2 9.7 7.9 12.4 28.2 7.9 18.4
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.43 0.44 0.42 0.44 0.44 0.41 0.45 0.48 0.52 0.48 0.47 0.48 0.52 0.41 0.45
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
DA/ - - A S =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.001 0.002 0.004 0.004 0.003 0.003 0.002 0.001 0.001 < < < 0.004 < 0.002
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 0.001 0.002 0.002 0.003 0.002 0.003 0.003 0.002 0.002 0.001 < < 0.003 < 0.002
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.003 0.006 0.008 0.010 0.007 0.009 0.007 0.005 0.005 0.002 < < 0.010 < 0.005
K YU s v o owm EE R =0.03 0.002 — — 0.002 — — < — — < — — < 0.002 < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.001 0.002 0.002 0.003 0.002 0.003 0.002 0.001 0.002 0.001 < < 0.003 < 0.002
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -— < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < < < < 0.01 < < < < < < 0.01 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 7.1 6.8 7.3 7.1 7.2 7.3 7.8 8.8 7.4 7.5 7.6 7.5 8.8 6.8 7.5
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 7.0 7.0 7.3 7.1 7.1 6.9 7.1 10.0 7.1 7.1 7.3 7.0 10.0 6.9 7.3
AN b~ T2y L% E) =300 1 62 62 65 62 65 67 64 68 61 61 63 63 68 61 64
& % % B L) =500 1 97 88 104 92 103 94 100 102 85 92 98 86 104 85 95
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 — — < — — < = — < — — < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < - -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < 0.2 0.2 < < < < < < < < 0.2 < <
pH it 5.8~8.6 7.4 7.4 7.5 7.5 7.5 7.4 7.5 7.4 7.3 7.3 7.3 7.4 7.5 7.3 7.4
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o JE ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.3 0.2 0.2 0.3 0.2 0.3 0.2 0.3 0.3 0.3 0.3 0.3 0.2 0.3

PRI, AR A R R, - :
B, R0 IRY . me/ e, (4F)=F%  No.6




i R mET GREACR ARHEKES) R4S

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 15.5 17.5 21.2 25.9 28.2 26.9 24.4 19.7 15.0 10.9 8.8 10.4 28.2 8.8 18.7
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 1.00 1.00 0.99 0.99 0.99 0.99 0.98 1.00 0.99 0.98 1.00 1.03 1.03 0.98 1.00
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 < < < < < < < < < < < < < < <
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 < < < < < < < < < < < < < < <
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 < < < < < < < < < < < < < < <
K YU s v o owm EE R =0.03 0.002 — — < — — < -— -—- < -— -— < < < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 < < < < < < < < < < < < < < <
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < < < < < < < < < < < < < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 10.2 9.9 9.9 9.9 9.8 9.8 10.6 11.2 10.3 10.9 10.6 10.6 11.2 9.8 10.3
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < <
L A O =200 1 8.2 8.1 8.1 8.1 8.1 8.1 8.1 8.3 8.3 8.2 8.2 8.1 8.3 8.1 8.2
NIV b= T FUy L&) =300 1 99 102 99 100 102 103 102 100 101 101 101 103 103 99 101
& iy % ® L7l =500 1 154 148 150 152 152 144 150 150 129 154 146 132 154 129 147
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < - -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.7 7.6 7.6 7.6 7.7 7.6 7.7
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o JE ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.3 0.2 0.2 0.3 0.2 0.2

TV T RREA, IR A AR R T, N
‘E'limi\ﬁ‘aﬁmm‘ﬁﬁb\mg/lk?ﬂ HFE)ZHTW  No.7




BICTREET (BRI FERA M) AFIALE
H H % IR AL TR A 45251 516 H 6J]13H 7H12H 8J115H 9 12H 10110 | 11140 | 12/13H 220 H 3H13H e KA e/ Mt SRt
K w O C ) 16.5 17.6 21.0 25.4 26.6 25.5 19.8 18.2 13.3 8.3 11.9 26.6 8.3 17.8
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R R A i A g A g A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < <
o e = # =0.04 0.004 < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 -— — < — — < — — < — < < < <
T EER AR R R EES =10 0.1 0.45 0.45 0.45 0.49 0.46 0.44 0.50 0.53 0.59 2 0.50 0.55 0.59 0.44 0.49
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < -— < < < <
7 o o 3 it =0.02 0.002 — — < -— -— < -— -— < — < < < <
s m wm K A A <0.06 0.001 0.002 0.003 0.006 0.006 0.006 0.007 0.004 0.002 0.002 0.001 0.001 0.007 0.001 0.003
Y 7 v ona [ O® =0.03 0.002 = = < - — < — - < — < < < <
Y 7 m ® s ouowm kK v =0.1 0.001 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.001 < 0.002 < 0.002
R # % =0.01 0.001 -— -— < -— -— < -— -— < — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.005 0.008 0.011 0.012 0.011 0.013 0.009 0.006 0.006 0.003 0.002 0.013 0.002 0.008
K YU s v o owm EE R =0.03 0.002 — — 0.004 — — 0.003 — — < — < 0.004 < <
7w ® ¥V s ouowm A H v =0.03 0.001 0.002 0.003 0.003 0.004 0.003 0.004 0.003 0.002 0.002 0.001 0.001 0.004 0.001 0.003
7 v E K L A =<0.09 0.001 < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < 0.01 0.01 0.01 0.01 0.01 0.01 < < < 0.01 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 4.5 4.9 5.1 5.4 5.0 5.0 5.7 6.6 5.6 5.3 5.3 6.6 4.5 5.3
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < <
w® O B 4 F v =200 1 5.4 5.8 6.0 6.1 5.6 5.2 5.7 6.4 5.8 6.0 5.7 6.4 5.2 5.8
AN b~ T2y L% E) =300 1 31 35 35 38 36 37 39 42 38 35 36 42 31 36
& iy ik ® L7l =500 1 74 54 59 64 63 53 66 72 40 52 49 74 40 60
bz A 4 v R om s A =0.2 0.02 — — < — -— < — — < — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = < < < <
7 = J = L ¥ =0.005 0.0005 — — < -— -— < -— -— < -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < 0.3 0.2 0.2 0.2 0.3 < 0.2 < < 0.3 < <
pH it 5.8~8.6 7.1 7.1 7.2 7.3 7.2 7.2 7.2 7.2 7.2 7.1 7.1 7.3 7.1 7.2
% REThRy RERL | BREARL | BREARL | BEARL | BERL | BERL | BERL | BERL | BREASL BERL | BE¥EARL
B & B TR Byl | BEAaL | BEAL | BEARL | BERL | BERL | BERL | BELL | BEAL BERL | RBEARL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < <
b} o JE ) <2 0.2 < < < < < < < < < < < < < <
7% 2 b ES =0.1 0.1 0.3 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.3 0.2 0.2

TR BREAGR, C—ERRA ART,
AL, FEHROZROIRY | mg/18§ 2,

(FE)EAE  No.8




fEH T —E ] OIPEARSR —EFIERT) BSR4
H H % IR AL TR A 45251 516 H 6J]13H 7H12H 8J115H 9 12H 10110 | 11140 | 12/13H 220 H e KA e/ Mt SRt
K w O C ) 14.9 16.9 20.5 25.3 27.3 26.0 22.3 18.4 12.9 7.4 27.3 7.4 17.6
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W [l R A R R R R g A g A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < <
o E & =0.04 0.004 < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 -— — < — — < — — < — < < <
T EER AR R R EES =10 0.1 0.45 0.46 0.45 0.48 0.47 0.44 0.49 0.53 0.59 3 0.52 0.59 0.44 0.50
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < <
YA-12-YIun T F LY RNV A1, 2-Y/an Ly =0.04 0.004 < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < -— < < <
7 o o 3 it =0.02 0.002 — -— < -— -— < -— -— < — < < <
s m wm K A A <0.06 0.001 0.002 0.003 0.007 0.007 0.006 0.006 0.004 0.002 0.002 0.001 0.007 0.001 0.004
Yy 7 m o B B =0.03 0.002 = = < - — < — - < — < < <
Y 7 m ® s ouowm kK v =0.1 0.001 0.002 0.002 0.002 0.003 0.002 0.003 0.003 0.002 0.002 0.001 0.003 0.001 0.002
R # % =0.01 0.001 -— -— < -— -— < -— -— < — < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.006 0.008 0.013 0.014 0.011 0.013 0.010 0.006 0.006 0.004 0.014 0.003 0.008
K YU s v o owm EE R =0.03 0.002 — — 0.004 — — 0.004 — — < — 0.004 < 0.002
7w ® ¥V s ouowm A H v =0.03 0.001 0.002 0.003 0.004 0.004 0.003 0.004 0.003 0.002 0.002 0.002 0.004 0.001 0.003
7 v E K L A =<0.09 0.001 < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < 0.01 0.01 0.02 0.02 0.02 0.02 0.01 < < 0.02 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 4.6 4.9 5.2 5.4 5.1 5.0 5.9 6.6 5.7 5.4 6.6 4.6 5.4
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < <
w® O B 4 F v =200 1 5.5 5.8 6.0 6.1 5.8 5.3 5.8 6.3 6.0 6.2 6.3 5.3 5.9
AN b~ T2y L% E) =300 1 32 35 35 38 36 37 39 42 37 35 42 32 37
& iy ik ® L7l =500 1 58 57 58 63 64 58 66 71 50 50 72 50 60
bz A 4 v R om s A =0.2 0.02 — — < — -— < — — < — < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = < < <
7 = J = L ¥ =0.005 0.0005 — -— < -— -— < -— -— < -— < < <
G L/ IEER T JCOF J) =3 0.2 < 0.2 0.3 0.3 0.2 0.2 0.2 < < < 0.3 < <
pH it 5.8~8.6 7.3 7.3 7.5 7.5 7.5 7.5 7.4 7.4 7.3 7.3 7.5 7.3 7.4
% REThRy RERL | BREARL | BREARL | BEARL | BERL | BERL | BERL | BERL | BREASL R
B & B TR Byl | BEAaL | BEAL | BEARL | BERL | BERL | BERL | BELL | BEAL B
) EoOC E ) =5 0.5 < < < < < < < < < < < < <
b} B ) <2 0.2 < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.3 0.3 0.3 0.2 0.2 0.2 0.3 0.3 0.3 0.3 0.2 0.3
> i é - . S S PN 3, N
AL RO B et g UF)—EF  Nod




fadki/ N PHERT  OHPEAR 176 FE R K ) G RAAESE

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 16.3 17.8 21.5 26.6 29.5 27.0 22.2 18.3 13.4 9.5 8.7 11.5 29.5 8.7 18.5
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N7 v N b A& W =0.02 0.001 < < < < < < < 0.002 < < < < 0.002 < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.45 0.46 0.45 0.49 0.48 0.44 0.48 0.53 0.59 0.56 0.53 0.52 0.59 0.44 0.50
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.002 0.004 0.007 0.008 0.007 0.008 0.004 0.002 0.003 0.001 0.001 0.002 0.008 0.001 0.004
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 0.002 0.002 0.002 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.003 0.001 0.002
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.006 0.009 0.013 0.016 0.014 0.016 0.011 0.008 0.007 0.005 0.004 0.006 0.016 0.004 0.010
K YU s v o owm EE R =0.03 0.002 — — 0.005 — — 0.004 — — < — — < 0.005 < 0.002
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.002 0.003 0.004 0.005 0.004 0.005 0.004 0.003 0.002 0.002 0.002 0.002 0.005 0.002 0.003
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < 0.01 0.01 0.02 0.02 0.01 0.01 < < < < 0.02 < <
% Kk O £ O b & P =0.3 0.01 0.02 0.01 0.01 < < < < 0.01 < < 0.01 0.01 0.02 < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 4.6 4.9 5.2 5.4 5.2 5.1 5.9 6.6 5.8 5.8 bib 5.4 6.6 4.6 5.4
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 5.5 5.9 6.1 6.2 5.8 5.4 5.7 6.4 6.1 6.2 6.2 5.8 6.4 5.4 5.9
NIV b= T FUy L&) =300 1 32 36 36 39 38 38 41 43 39 38 35 36 43 32 38
& % % B L) =500 1 60 60 67 66 64 54 68 71 46 70 50 51 71 46 61
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 — — < — — < = — < — — < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < -— -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < 0.3 0.2 0.2 0.2 < < 0.2 < < < 0.3 < <
pH it 5.8~8.6 7.3 7.3 7.4 7.4 7.5 7.5 7.5 7.4 7.3 7.3 7.3 7.3 7.5 7.3 7.4
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o E ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.2 0.3 0.2 0.3 0.2 0.2 0.3 0.3 0.2 0.2 0.2 0.3 0.2 0.2

AT IRER, A A ~
B, R0 IRY . me/ e, (FEVIE S No.10




A mET (EJRREAR  HR BELKHL) SRR

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 16.4 17.2 22.6 28.0 29.8 28.1 22.8 17.0 14.1 9.8 8.8 12.0 29.8 8.8 18.9
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.62 0.67 0.60 0.55 0.58 0.58 0.59 0.57 0.58 0.68 0.71 0.71 0.71 0.55 0.62
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
DA/ - - A S =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.001 0.002 0.003 0.004 0.004 0.004 0.002 0.001 0.001 < < < 0.004 < 0.002
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 0.001 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001 < < 0.002 < 0.001
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.003 0.005 0.007 0.009 0.009 0.009 0.006 0.005 0.003 0.002 < < 0.009 < 0.005
K YU s v o owm EE R =0.03 0.002 — — 0.002 — — < — — < — — < 0.002 < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.001 0.002 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.001 < < 0.003 < 0.002
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -— < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < < < < < < < < < < < < < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < 0.02 < 0.01 < 0.02 0.02 < < 0.02 < <
FTRrIVARUVCZDODEDY =200 1 5.6 5.6 5.7 5.9 5.9 5.8 6.6 7.1 6.5 6.5 6.4 6.2 7.1 5.6 6.1
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 7.1 7.1 7.1 6.8 6.5 5.9 6.1 6.1 6.0 6.0 6.5 6.6 7.1 5.9 6.5
AN b~ T2y L% E) =300 1 38 40 39 41 43 43 45 47 44 43 42 41 47 38 42
& iy % ® L7l =500 1 64 67 72 70 70 59 74 74 54 78 54 62 78 54 67
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < -— -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < < 0.2 < < < < < < < < 0.2 < <
pH it 5.8~8.6 7.0 7.0 7.1 7.2 7.1 7.0 7.0 7.0 7.0 6.9 6.9 6.9 7.2 6.9 7.0
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B & B TR Bl | BEARL | RBEsL | BEaL | REARL | Rl | RElL | BERL | BEARL | BEAL | BEARL | BEARL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o JE ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.3 0.3 0.2 0.1 0.2 0.2 0.2 0.2 0.3 0.3 0.3 0.3 0.1 0.2

TOETRMER AR T, " :
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iy =0T (EIRRACR PEHTBLKH) SRR

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 15.7 16.4 20.8 24.4 26.4 27.1 21.1 18.2 13.1 9.9 8.2 10.3 27.1 8.2 17.6
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g ] i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.64 0.68 0.63 0.59 0.58 0.59 0.59 0.57 0.55 0.69 0.87 0.73 0.87 0.55 0.64
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
DA/ - - A S =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
kY /B omr = F L v =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.002 0.002 0.004 0.004 0.003 0.004 0.002 0.001 0.002 < < < 0.004 < 0.002
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 0.002 0.002 0.002 0.003 0.002 0.003 0.003 0.002 0.002 0.002 < < 0.003 < 0.002
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.006 0.006 0.009 0.010 0.008 0.010 0.008 0.005 0.006 0.003 < < 0.010 < 0.006
K YU s v o owm EE R =0.03 0.002 — — 0.002 — — < — — < — — < 0.002 < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.002 0.002 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.001 < 0.001 0.003 < 0.002
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -— < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < < < < < < < < < < < < < <
% Kk O £ O b & P =0.3 0.01 0.01 < 0.01 0.02 0.01 0.04 < < 0.01 0.01 0.01 < 0.04 < 0.01
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 5.6 5.6 5.8 5.9 5.8 5.9 6.7 7.2 6.5 6.8 6.5 6.4 7.2 5.6 6.2
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 7.2 7.2 7.3 7.1 6.5 6.0 6.1 6.2 6.0 6.3 6.6 6.7 7.3 6.0 6.6
AN b~ T2y L% E) =300 1 39 41 40 43 42 44 46 48 45 45 43 42 48 39 43
& iy % ® L7l =500 1 65 66 73 70 78 69 74 78 60 84 63 62 84 60 70
B2 A A~ Fom & A =0.2 0.02 -— — < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 — — < — — < = — < — — < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < - -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < < < < 0.2 < < < < < < 0.2 < <
pH it 5.8~8.6 7.2 7.2 7.3 7.4 7.4 7.3 7.2 7.2 7.2 7.1 7.1 7.1 7.4 7.1 7.2
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o JE ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.2 0.2 0.1 0.1 0.1 0.2 0.3 0.2 0.3 0.3 0.3 0.3 0.1 0.2

IR, AR AT - :
B, R0 IRY . me/ e, (49)Bh =2 No.12




i (RACR EREKH) N4

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 15.0 16.8 20.1 24.5 25.6 22.9 20.9 17.2 13.5 9.7 8.0 10.6 25.6 8.0 17.1
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g ] i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.49 0.47 0.42 0.42 0.49 0.50 0.47 0.45 0.53 0.64 0.58 0.58 0.64 0.42 0.50
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v <0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
DA/ - - A S =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.001 0.002 0.003 0.003 0.003 0.003 0.002 < 0.001 < < < 0.003 < 0.001
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 0.001 0.002 0.002 0.002 0.002 0.003 0.003 0.002 0.001 0.001 < 0.001 0.003 < 0.002
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.003 0.006 0.007 0.007 0.007 0.009 0.007 0.003 0.003 < < 0.002 0.009 < 0.005
K YU s v o owm EE R =0.03 0.002 — — < — — < -— -—- < -— -— < < < <
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.001 0.002 0.002 0.002 0.002 0.003 0.002 0.001 0.001 < < 0.001 0.003 < 0.001
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -— < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 < < < < < < < < < < < < < < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < 0.01 < < < < 0.01 < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 52 5.4 5.6 6.0 6.1 6.3 7.0 7.3 6.7 6.8 6.3 6.0 7.3 52 6.2
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 6.4 6.6 6.7 6.6 6.2 5.5 5.8 6.1 6.0 6.6 7.2 6.9 7.2 5t5 6.4
AN b~ T2y L% E) =300 1 39 42 43 47 51 52 50 47 46 16 43 42 52 39 46
& iy % ® L7l =500 1 68 67 72 72 80 76 78 75 64 78 70 56 80 56 71
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < < < < < < < < < < < < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < - -— < < < <
G L/ IEER T JCOF J) =3 0.2 < < < < < < < < < < < < < < <
pH it 5.8~8.6 7.2 7.2 7.3 7.3 7.3 7.2 7.2 7.2 7.1 7.1 7.1 7.1 7.3 7.1 7.2
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
£ EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o JE ) =2 0.2 < < < < < < < < < < < < < < <
7% 2 b ES =0.1 0.1 0.2 0.2 0.2 0.2 0.1 0.1 0.2 0.3 0.2 0.2 0.3 0.2 0.3 0.1 0.2

PRI, A A R " ~
AT, TR Y. mg/ 12T 5, GEYEM  No.13




BHTRARNT  (REPJIKGR RAoRIBd ki) SRR

H A &4 IR T BRAE 41250 516 H 6J113H THI12H 8H15H 9A12H 10H11H | 11414H | 12H13H 1A10H 2H20H 3H13H [ EoN [ F M SR
K w O C ) 15.7 17.3 20.8 24.6 27.5 26.4 21.9 17.2 14.6 9.0 5.2 9.7 27.5 5.2 17.5
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g R i A i A g A g A A A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — — < < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 — — < — — < — — < — — < < < <
T EER AR R R EES =10 0.1 0.31 0.27 0.30 0.36 0.40 0.31 0.45 0.25 0.60 0.48 0.44 0.41 0.60 0.25 0.38
7 v E E B ZE oW AED =0.8 0.05 < < < < < < < < < < < < < < <
v FE K OEOWLRAEDY <1.0 0.1 < < < < < < < < < < < < < < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < < < <
VA-1,2-V/RRIFLY RNV A1, 2-V anEF Ly =0.04 0.004 < < < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < < < <
K'Y /B oBr = F Lo =0.01 0.001 < < < < < < < < < < < < < < <
~ 2 £ 2 <0.01 0.001 < < < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < -— -— < < -— < < < <
7 o o 3 fit =0.02 0.002 — — < — -— < -— -— < -— — < < < <
s m wm K A A <0.06 0.001 0.006 0.012 0.013 0.009 0.015 0.009 0.007 0.003 0.001 0.001 0.001 0.002 0.015 0.001 0.007
Yy 7 m v [ B =0.03 0.002 = = < - — < — - < — — < < < <
Y 7 m '/ wmoua AL v =0.1 0.001 0.002 0.001 0.002 0.002 0.002 0.003 0.003 0.002 0.002 0.002 0.002 0.001 0.003 0.001 0.002
R # i3 =0.01 0.001 = = < - — < — - < — — < < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.012 0.018 0.021 0.017 0.023 0.017 0.015 0.008 0.005 0.005 0.005 0.005 0.023 0.005 0.013
K YU s v o owm EE R =0.03 0.002 — — 0.008 — — 0.002 — — < — — < 0.008 < 0.002
7 v ® ¥V 7 u 8w AKX v =0.03 0.001 0.004 0.005 0.006 0.006 0.006 0.005 0.005 0.003 0.002 0.002 0.002 0.002 0.006 0.002 0.004
7 v E K L A =0.09 0.001 < < < < < < < < < < < < < < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— -— < < < <
o k2 o b &P =1.0 0.01 < < < < < < < < < < < < < < <
TNHWNIZUVLARUVBZOED =0.2 0.01 0.01 0.02 0.02 0.02 0.03 0.03 0.01 < < < < < 0.03 < 0.01
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 5.8 6.4 7.1 05 7.7 8.5 8.1 8.2 7.9 7.9 7.2 7.0 8.5 5.8 7.4
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < < < <
w® O B 4 F v =200 1 7.1 7.7 7.7 8.2 11.2 11.9 7.1 7.9 9.1 9.9 9.3 9.1 11.9 7.1 8.9
NIV b= T FUy L&) =300 1 22 26 30 33 28 34 33 32 29 26 25 23 34 22 28
& iy % ® L7l =500 1 45 51 64 60 57 58 66 57 47 56 50 43 66 43 55
bz A 4 v R om s A =0.2 0.02 — - < — -— < — — < -— — < < < <
Y = F xR X v =0.00001 | 0.000001 < < < 0.000001 | 0.000001 | 0.000001 < < < < < < 0.000001 < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < < < <
A A R OmE IE A =0.02 0.005 = — < = = < = = < = = < < < <
7 = J = L ¥ =0.005 0.0005 — — < — -— < -— -— < - -— < < < <
G L/ IEER T JCOF J) =3 0.2 0.2 0.3 0.4 0.4 0.3 0.3 0.3 < < < < < 0.4 < <
pH it 5.8~8.6 7.9 7.8 7.9 7.8 8.3 8.5 7.8 7.5 7.5 7.4 7.4 7.5 8.5 7.4 7.8
% REThRy Bl | BEWARL | BEARL | BEARL | BRERL | BREAl | BREAL | BEARL | BEARL | BEWARL | BEARL | BERL
B ! B TR Bl | BEaL | BEaL | BERL | BEARL | BEAL | BEAL | BERL | BEsL | BERL | BERL | BEAL
) EoOC E ) =5 0.5 < < < < < < < < < < < < < < <
b} o JE ) =2 0.2 < < < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.3 0.2 0.2 0.2 0.3 0.3 0.3 0.2 0.3 0.2 0.3 0.3 0.3 0.2 0.3

AT IRER, A A ~
B, R0 IRY . me/ e, (F)RFR  No.14




IR (EEKR KAL) AR i
H H % IR AL TR A 45251 516 H 6J]13H 7H12H 8J115H 9 12H 10110 | 11140 | 12/13H 220 H e KA e/ Mt SRt
K w O C ) 15.8 17.5 20.3 25.8 26.6 25.4 21.3 17.4 11.0 7.9 26.6 7.9 17.3
— & M W (E % /m) =100 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K W ] g A i A i A g A g A A
ARIV AR OZEONRAEWD =0.003 0.0003 < < < < < < < < < < < < <
K E O O b & W =0.0005 0.00005 — — < — — < — — < — < < <
L vy kOO AED =0.01 0.001 < < < < < < < < < < < < <
h kK O £ o b & P =0.01 0.001 < < < < < < < < < < < < <
E K O E 0L &Y <0.01 0.001 < < < < < < < < < < < < <
N fli 2 v AN b A W =0.02 0.001 < < < < < < < < < < < < <
o O o = & =0.04 0.004 < < < < < < < < < < < < <
ST UMM AL U RO T =0.01 0.001 -— — < — — < — — < — < < <
T EER AR R R EES <10 0.1 0.28 0.24 0.28 0.29 0.32 0.27 0.32 0.23 0.51 0.36 0.51 0.23 0.32
7 v E E B ZE oW AED =0.8 0.05 0.08 0.09 0.11 0.10 0.11 0.09 0.09 0.10 0.09 0.10 0.11 0.08 0.10
v FE K OEOWLRAEDY <1.0 0.1 < < < < 0.1 < < < < 0.1 0.1 < <
Py i} e, 2 # =0.002 0.0002 < < < < < < < < < < < < <
4~ v F * ¥ v =<0.05 0.005 < < < < < < < < < < < < <
YA-12-YIun T F LY RNV A1, 2-Y/an Ly =0.04 0.004 < < < < < < < < < < < < <
Y s/ m o m X K v =0.02 0.001 < < < < < < < < < < < < <
F N7 7 mm T F L v =0.01 0.001 < < < < < < < < < < < < <
kY /B omr = F L v =0.01 0.001 < < < < < < < < < < < < <
~ 2 + v =<0.01 0.001 < < < < < < < < < < < < <
H # % =0.6 0.06 — — < < — < — -— < -— < < <
7 o o 3 it =0.02 0.002 — — < -— -— < -— -— < — < < <
s m wm K A A <0.06 0.001 0.003 0.005 0.006 0.005 0.006 0.004 0.003 0.002 < < 0.006 < 0.003
Y 7 B o B =0.03 0.002 -— -— 0.002 -— -— < -— -— < -— 0.002 < <
Y 7 m ® s ouowm kK v =0.1 0.001 0.003 0.004 0.005 0.006 0.004 0.004 0.004 0.003 0.002 0.002 0.006 0.002 0.003
R # % =0.01 0.001 -— -— < -— -— < - -— < — < < <
[ 3 U R NI = S S 2 =0.1 0.001 0.009 0.014 0.017 0.019 0.016 0.013 0.011 0.009 0.004 0.003 0.019 0.003 0.010
K YU s v o owm EE R =0.03 0.002 — — 0.006 — — < — — < — 0.006 < <
7w ® ¥V s ouowm A H v =0.03 0.001 0.003 0.004 0.005 0.006 0.004 0.004 0.003 0.003 0.002 0.001 0.006 0.001 0.003
7 v E K L A =<0.09 0.001 < 0.001 0.001 0.002 0.002 0.001 0.001 0.001 < < 0.002 < <
B v AN T L F kbR =0.08 0.005 -— -—- < -—- -— < -— -— < -— < < <
o kK % ot &P =1.0 0.01 0.02 0.02 0.02 0.02 0.02 0.02 0.02 0.01 0.01 0.01 0.02 0.01 0.02
TNHWNIZUVLARUVBZOED =0.2 0.01 < < 0.01 0.01 < 0.01 < < < < 0.01 < <
g% kK O 2 © b & P =0.3 0.01 < < < < < < < < < < < < <
i kK O 2 O b & Y =1.0 0.01 < < < < < < < < < < < < <
FTRrIVARUVCZDODEDY =200 1 15.9 15:5 18.0 17.5 21.5 17.5 18.9 19.5 17.4 21.0 21.5 1515 18.4
~ v R EOWLRAED =0.05 0.005 < < < < < < < < < < < < <
L A O =200 1 12.8 12.8 14.3 13.8 18.2 16.1 13.7 13.7 14.5 16.8 18.2 12.8 14.8
AN b~ T2y L% E) =300 1 33 35 38 41 41 39 40 39 36 40 41 33 38
& % % B L) =500 1 82 84 102 90 108 96 98 91 82 100 108 76 92
bz A 4 v R om s A =0.2 0.02 — — < — -— < — — < — < < <
Y = F xR X v =0.00001 | 0.000001 < < 0.000001 | 0.000001 < < < < < < 0.000001 < <
2= A F A4V K )L F A — | =0.00001 | 0.000001 < < < < < < < < < < < < <
A A v B mE & M A =0.02 0.005 g == < = = < = = < = < < <
7 = J = L ¥ =0.005 0.0005 — — < -— -— < -— -— < -— < < <
G L/ IEER T JCOF J) =3 0.2 0.3 0.2 0.3 0.3 0.3 0.3 0.3 < < < 0.3 < <
pH it 5.8~8.6 7.3 7.3 7.4 7.5 7.4 7.5 7.4 7.3 7.4 7.3 7.5 7.3 7.4
% REThRy RERL | BREARL | BREARL | BEARL | BERL | BERL | BERL | BERL | BREASL R
B & B TR Byl | BEAaL | BEAL | BEARL | BERL | BERL | BERL | BELL | BEAL B
) EoOC E ) =5 0.5 < < < < < < < < < < < < <
b} B ) <2 0.2 < < < < < < < < < < < < <
23 2 H ES =0.1 0.1 0.5 0.4 0.4 0.3 0.4 0.4 0.4 0.4 0.4 0.4 0.5 0.3 0.4

TR T IRAEA R, IR R AR R T

HALZ, GEHROROIRY, mg/1EF 2,

()P No.15
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0.3
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9.8 15.7
0 0
< <
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< <
< <
< <
< <
< <
< <
0.28 0.42
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< <
< 0.004
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